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1. Which one of the following is mot a factor of production?

(1) Natural resources (2) Human resources
(3) Capital : (4) Money :
(5) Entrepreneurship Covnrns )

2. The problem of scarcity
(1) exists only in developing economies.
(2) exists only in market economies.
(3) exists because prices of goods and services are too high.
(4) exists now but will be eliminated with economic growth.
(5) exists because of limited resources. (oonnne )]

3. Which of the following is assumed in constructing a production possibilities curve?
(1) The economy is using its resources inefficiently.
(2) Resources are utilized to produce only private goods.
(3) Full emplioyment, but not full production, is being realized.
(4) Production technology is fixed.
(5) There is no inflation in the economy. : ' Coeernn )

4. An economy has achieved productive efficiency when
(1) it is unable to produce more of one good without producing less of another.
(2) the marginal cost of producing each good is equal to its price.
(3) it has eliminated all negative externalities.
(4) the tesources are allocated to produce goods and services most wanted by society.
(5) it is self-sufficient in all products. C..... )
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5. The fundamental economic questions of ‘what to produce’ and ‘for whom to produce’ are essentlally

interdependent because:

(1) different patterns of income distribution generate different patterns of demand and therefore different patterns of
resource atlocation.

(2) different patterns of production methods generate different patterns of income distribution.

(3) income and wealth are concentrated in the hands of the cconomically powerful segments of society.

(4) markets cannot be relied upon to allocate resources efficiently.

(5) a particular level of output may be produced by many different combinations of inputs. (...... }

6. The main function of prices in a market cconomy is to

(1) generate more profits to the entrepreneurs.

(2) guide households to choose investment opportunities,

(3) determine the elasticity of demand curves.

(4) improve the distribution of income.

(5) allocate scarce resources among alternative uses. (onu.t )

7. Which one of the change in the followmg factors causes the market demand curve for a good to remain

unchanged? ,

(1) Population (2) Price of that good

(3) Price of a substitute good (4) Price of a complementary good

(5) Average income of houscholds (e )

8. Which one of the following combinations of income and price elasticities of demand is consistent with a

normal good which has a downward sloping demand curve?

Income Elasticity of Demand | Price Elasticity of Demand
{1 Negative Positive
@) Positive Negative
3 Negative ' Negative
4] Positive Positive
5) Negative Zero G, )

9. Suppose there are only two goods A and B, and other things including consumer’s money income remain

unchanged. If the price of good A fails and the demand for good B increases, we can conclude that

(1) A is a normal good. (2) both A and B are normal goods.
(3) A is an inferior good. (4) B is an inferior good. :
(5) B is a normal good. . (......)

10. An increase in the price of rice has caused the demand for bread o rise by 30%. The cross elasticity of

demand between rice and bread is 3.0. Which change in the price of rice has brought this about?

(1) From Rs. 80 to Rs. 90 per kilogram

(2) From Rs. 60 to Rs. 72 per kilogram

(3) From Rs. 80 to Rs. 85 per kilogram

(4) From Rs. 70 to Rs. 80 per kilogram '

(5} From Rs. 80 to Rs. 88 per kilogram : (eens )

11. Which of the following is true in the market for a certain product, if producers consistently are willing to sell

more at the going price than consumers are willing to buy?

(1) Demand is highly inelastic (2) Supply is highly elastic
(3) The product is inferior (4) There is a price ceiling on the product
(5) There is a price floor on the product = . : (..... )

12. Market demand and supply curves for a certain consumer good is represented by the following equations:

Demand (Qp) = 80 - 2P Supply (Qg) = 20 + 3P
Then the equilibrium quantity and price would be:
(1) 40 units and Rs. 20. {2) 56 units and Rs. 2. (3) 50 units and Rs. 15.
(4) 60 units and Rs. 10. (5) 40 units and Rs. 120. (... }
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18.
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13. The diagram below represents a competitive market for a certain consumer good.
Price (Rs)
Supply
Py [~ R
P, Specific tax (Unit tax)
T B S U
Demand
0 > Quantity (Units)

If a specific tax (unit tax) is levied on the product in this market by the government, the producer surplus
after the tax is the area

(1) A+B+F (2) B+E+C+F+D. 3) C+F+D.

(4) D. (5) E+F+H. _ (....)

If the price elasticity of supply is less than one, this means the

(1) change in quantity supplied is greater than the change in price.

) percentage change in quantity supplied is greater than the percentage change in price.

(3) change in quantity supplied is less than the change in price.

(4) percentage change in quantity supplied is less than the percentage change in price

(5) percentage change in quantity supplied is less than the change in price. (oennn )

Suppose the demand and supply curves for a competitive market are represented by. the following equations:
Demand (Qy) = 60 - 2P Supply (Qg) = ~20 + 3P

In the equations above, QD and Qg are the quantity demanded and quantity supplied and P is the price.
Suppose the government imposes a minimum price equal to Rs. 20 per unit. Then this will

(1) lead to an excess supply in the market equal to 20 units. -

(2) lead to an excess supply in the market equal to 28 units.

(3) lead to an excess demand in the market equal to 28 units.

(4 lead to an excess demand in the market equal to 20 uruts

(5) have no effect on the market. S (onenn. )

The ‘Law of Diminishing Returns’ states,

(1) as the size of a plant increases, its marginal product eventually decreases

(2) as the size of a plant increases, its average cost eventually decreases.

(3) as a firm uses more of a variable input, glven the quantlty of fixed 1nputs its margmal product eventuaily

decreases.

(4) as a firm uses more of a variable input, given the quantity of fixed mputs its average cost eventually
decreases.

(5) as a firm uses more of a fixed input, given the quantity of variable inputs, its marginal product eventually
decreases, _ (- )

If there are implicit costs of production

(1) accounting profit will exceed economic profit.

(2) economic profit will always be zero.

(3) economic profit will exceed accounting profit.

(4) accounting profit will always be zero.

(5) economic profit and accounting profit will be equal. (eeeen. )

Which of the following is mot usually a characteristic of a perfectly competitive market?

(1) No individual firm has any significant amount of market power.

(2) The market demand curve is perfectly elastic.

(3) Any individual firm can increase its production and sales without affecting the price of the good.
(4) The existing firms cannot bar the entry of new firms.

(5) There are large number of buyers and sellers in the market. [ )J

[See page four
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19. The table below displays some of the assumptions of perfect competition and monopolistic competition.

20. A firm in a perfectly competitive industry is facing the following situation in the short run.

21.

22

23.

25,

26.

\

Which combination of assumptions is consistent with these markets?

Perfect Competition Monopolistic Competition
(1) | Homogeneous product Barriers to entry and exit
(2) | Differentiated products Homogeneous product
(3) | Large number of sellers Small number of sellers
{4) | Barriers to entry and exit | Perfect information
(5) | Large number of sellers Differentiated products (oeeee )

The current level of output = 500 units

Market price = Rs. 6 per unit

Total cost = Rs. 5000

Total fixed cost = Rs. 1000

Marginal cost = Rs. 6
The firm whose goal is profit maximization should
(1) reduce output but keep producing. (2) increase its selling price.
(3) leave output unchanged. (4) reduce output to zero.
(5) increase output but keep its price constant. ' Coerns )
The sequence of phases of the business cycle are
(1) contraction, expansion, trough and peak. (2) contraction, peak, expansion and trough.
(3) contraction, trough, peak and expansion. (4) contraction, trough, expansion and peak.
(5) contraction, peak, trough and expansion. _ (ooenes )
Which of the following expenditures would be included in the calculation of gross fixed capital formation?
(1) Buying a newly constructed house
(2) Buying a new luxury car
(3) Buying 1000 shares of stock of a manufacturing company
(4) Commission paid to a stock broker for selling stocks
(5) Money spent on corn cultivation in a five hectare plot of land (T )
Suppose GDP of a country in current prices increased by approximately 8% between one period and the
next, but real GDP feil by 2% in the same period. Which one of the following explanations is most likely?
(1) General price level fell by 4 %. (2) General price level fell by 8%.
(3) General price level increased by 4%. (4) General price level increased by 8 %.
(5) General price level increased by 10%. : (U )
An increase in which of the following may result in a decrease in aggregate expenditure in an economy?
{1) Consumption expenditure (2} Government purchases
(3) Import expenditure ~ (4 Investment expenditure
(5) Inflow of foreign remittances Coonrns )
Assume that in a closed economy, the aggregate consumption function is C = 200 + 08Y, and the equilibrium

level of national income is Rs. 4000 billion. What is the level of investment for this economy?
(1) Rs. 1600 billion (2)" Rs. 600 billion (3 Rs. 400 billion .
(4) Rs. 380 billion (5) Rs. 300 billion _ ' : [ (PPN )

Suppose an economy is currently operating at an equilibrium level of output at Rs. 3000 billion and to achieve
full employment equilibrium, it requires to produce an output level of Rs. 4000 billion. This economy’s marginal
propensity to save is 0.2. What would be the most appropriate policy recommendation for this economy to
achieve full employment equilibrium?

(1) Increase government spending by Rs. 1000 biilion

(2) Increase government spending by Rs. 500 billion

(3) Increase government spending by Rs. 250 billion

{4) Decrease direct taxes by Rs. 1000 billion

(5) Decrease direct taxes by Rs. 250 billion (onnne )
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27. The table below presents data on the components of aggregate expenditure and national income for an open

C 1 G X M Y
(1y| 250 50 100 75 25 400
(2)| 300 50 100 75 25 500
(3| 450 50 100 75 25 650
@ | 600 50 100 75 25 800
5y 750 50 100 75 25 950 G, )
28. What is meant by ‘the value of money’?
(I) The amount of goods and services that can be purchased with a given amount of money
(2) The amount of wealth stored in the form of money
(3) The amount of gold reserves kept at the Central Bank
(4) The cost of production of coins and notes
(5) The opportunity cost of holding wealth in the form of money (...... )
29. An inflationary gap could be reduced by
(1) an increase in government spending. (2) an increase in the supply of money.
(3) an increase in the income tax rate. (4) a decrease in the Central Bank discount rate.
(5) a decrease in the statutory reserve ratio. (..... )

36.

31.

32.

33.

3.

™

economy with a government sector where, C=Consumption expenditure, I=Investment, G =Government
purchases, X= Exports, M=Imports and Y =National income. Under which situation is this economy in
disequilibrium? ' :

(All figures are in Rs. billion)

What will be the probable effects of an increase in the Value Added Tax (VAT) on demand-pull inflation
and cost-push inflation?

Demand-pull inflation | Cost-push inflation
(1) Decrease Increase
2) Increase _ Decrease
3 Increase Increase
@ Decrease Decrease
5y Increase Unaffected (oo )
Which one of the following assets is most liquid?
(1) Saving deposits (2) Treasury bills (3) Demand deposits
(4) Treasury bonds (5) Real estate (onn)

Suppose you deposit Rs. 10000 in your deposit account in a commercial bank. If the bank wishes to hold
20% of all deposits on reserve, how much new deposits can it create as a direct result of your deposit?

(1) Rs. 8000 (2) Rs. 10000 (3) Rs. 40000

{4) Rs. 50000 (5) Rs. 52000 (oeenn )

Which of the following happens when the Central Bank reduces its policy interest rate?

(1) The demand for money decreases and market interest rates decrease

(2) The demand for money increases and market interest rates increase

(3) The supply of money decreases and market interest rates decrease

(4) The supply of money increases and market interest rates decrease

(5) The demand for money, the supply of money and market interest rates increase (.ennn )

The primary goal of the Central Bank of Sri Lanka in the conduct of its monetary policy at present is
(1) to stabifize inflation at mid single digit over the medium term.

(2) to maintain the external value of the rupee at a stable level.

(3) to facilitate the government in budget deficit financing.

{(4) to achieve a sustainable economic growth.

(5) to reduce the burden of public debt. C..... )

[See page six
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35. What will happen to the money supply and the equilibrium interest rate if the Central Bank sells securities

37.

in the open market?

Money Supply Equilibrinm Interest Rate
(n Increase Increase
2 Decrease Increase
3 Increase Decrease
@ Decrease Decrease
(5 Decrease No change ... )
36. An example of a pure public good is
(1) health service. (2) national museum. {(3) national defence.
(4) rail transport service. (5) education. _ (..... )]
Given in this diagram are the marginal private bencfit (MPB) and marginal social benefit (MSB) curves and
the market supply curve (S) for a particular good.
Price (Rs.)
S = MPC = MSC
P2
P

38.

39.

4¢.

Quantity (Units)

In the absence of government intervention in this market, misallocation of resources is likely to occur
because of

(1) the free market price is too high.

(2) there is over-production of the good of H-J.

(3) free market output is too high.

(4) there is under-consumption of the good of H-I. .

(5) negative externality in consumption. _ (..... )

The government revenue to GDP ratio and the government expenditure to GDP ratio in Sri Lanka in recent
years were approximately:

Revenue/GDP Ratio (%) Expenditure/GDP Ratio (%)
() 15- 16 25-26
@ 12-13 24-25
3 13-14 20-21
()] 10-11 15-16
(5) 15-16 . 18- 19 o )

According to their relative importance in total expenditure, the main components of recurrent expenditure of
Sri Lankan government can be ranked as

(1) transfers to households, interest payments, salaries and wages.

(2) salaries and wages, interest payments, transfers to households.

(3) transfers to public institutions, interest payments, salaries and wages.

(4) transfers to houscholds, salaries and wages, interest payments.

(5) interest payments, transfers to public institutions, transfers to households. Conens )

The widely used credit instrument in domestic financing budget deficit of Sri Lanka in recent years has been

{1} Treasury Bills. {2) Treasury Bonds.
(3) Rupee Sccurities. (4) Sri Lanka Development Bonds.
(5) Central Bank Advances. Covens )

[See page seven

@ agaram.lk

joAIle swealp InoA desy) - Y7 weleby




Agaram.LK - Keep your dreams alive!

AL/2017/21/E-1 ' -7-
('_ -

www.agaram.lk

41.

42.

43.

4.

45.

46.

In Japan, it takes 50 labour hours to produce one unit of cloth and 100 labour hours to produce one unit of
rice. In Thailand, it takes 200 labour hours to produce one unit of cloth and 200 labour hours to produce
one unit of rice. Which of the following statements is true for this situation?

(1) Japan has a comparative advantage in the production of rice.

(2) Thailand has an absolute advantage in the production of rice.

(3) Japan has a comparative advantage in the production of cloth.

(4) Thailand has a comparative advantage in the production of cloth.

(5) Both countries should produce cloth. Gnnt )

International trade permits a country to

(1) produce and consume beyond its production possibilities boundary.

(2) shift its production possibilities boundary outward.

(3) lower the per-unit production costs of all goods which is producing.

(@) expand its production possibilities while holding constant its consumption possibilities.

(5) consume beyond its production possibilities boundary. Cooeens )

The current account pius the financial account of the balance of payments is equal to

(1} zero. ) (2) one.
(3) the trade balance. (4) net capital account balance.
(3) net international reserves. ST )

If the price of the Japanese Yen declines considerably against the Sti Lankan rupee,

(1) Sri Lankan goods are relatively cheaper for Japanese consumers.

(2) Japanese goods are relatively cheaper for Sri Lankan consumers.

(3) demand for Sri Lankan rupees would increase in Japan.

{4y it would encourage more Japanese tourists visiting Sri Lanka.

(5) it would discourage more Sri Lankan tourists visiting Japan, (eeennn )]

An ¢conomy’s Gross National Income (GNI) per capita based on purchasing power parity has increased over
a certain period of time, but its development measured by the Human Development Index has remained
unchanged. What could explain the difference?

{1) Increase in the number of expected years of schooling for children

(2) A decline in the life expectancy at birth

{3) A decrease in the adult literacy rate

{4) An increase in the rate of inflation

(5) An increase in the rate of population growth A (ervees )

The Lorenz Curve in the diagram below depicts the distribution of household income in an economy.

100

80 1

60

40 {

20 ¢

Percentage of Income
e

0 20 40 60 80 100
Percentage of households

How is the Gini coefficient of the inequality of income distribution in this economy measured?

(1) (Area A + Area B) + Area C

(2) Area B + Area C

(3) Area A + (Area B + Area O)

(4) Area B = (Area B + Area C)

(3) Area C + (Area A + Area B) T )

_/
|See page eight
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47. The table below presents some data pertaining to the labour market in a hypothetical economy at a given year.
Working age population | Unemployed population
(million) (million) Rate of Employment (%)
25 3 80

The labour force participation rate in this economy is

(1) 20%. 2) 30%. 3) 40%. @ 50%. (5) 60%. [ )
48. According to the 2012/13 Household Income and Expenditure Survey, the three districts with the highest

Poverty Head Count Ratio in Sri Lanka are

(1) Mullativu, Moneragala and Mannar. (2) Batticaloa, Mannar and Kilinochchi.

(3) Mannar, Mullativua and Badulla. (4) Mannar, Mullativu and Kilinochchi.

(5) Mullativu, Batticaloa and Moneragala. G..... )
49. Despite the reduction in absolute poverty fevel of Sri Lanka, significant income inequalities continue to ‘persist.

This is confirned by the percentage of total household income held by the richest 10% of household which is

(1) 109%. (2) 149%. (3) 28.6%. (4) 38.0%. (5) 57.5%. (eeenes )
50. Which one of the following is mot a major obstacle to attracting foreign direct investment in Sri Lanka?

(1) Unstable macroeconomic conditions . {2) Labour market rigidities

(3) Uncertainty of policies (4) Corruption and weak regulations

(5) Lack of diversification in export sector S )

vy
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% Answer five questions only, selecting minimum of two questions from Sub-section ‘A’ and two
guestions from Sub-section ‘B’

% Graph papers will be provided.

-

Sub section ‘A’

(Select minimum of two questions from this section.)

1. (i) The following diagram shows a production possibilities curve for an economy which produces only
civilian goods and military goods. Assume that the economy is producing at point K.

Military Goods

0 Civil Goods

(a) Does this economy’s production possibilities curve exhibit increasing opportunity costs?

Explain. (02 marks)
(b) If this economy were to go for a war, the most likely move would be from point K to '

which point? Explain. (02 marks)

(c) If the economy entered into a recession, the economy would move from point K to which
point? Explain. (02 marks)

(ii) Siate three reasons that explain why the division of labour increases an economy’s level of
production. : (03 marks)
(iti) With the help of a production possibilities curve, explain the concept of scarcity. (04 marks)
(iv) What functions do prices serve in a market economy? ' (03 marks)
(v) State the disadvantages of a command economy. _ (04 marks)
2. (i) State factors other than its own price which may .influence demand for a commodity. (03 marks)
(it Distinguish between change in demand and change in quantity demanded. {04 marks)
(iii) Define the ‘Law of Supply’ and explain the reasons for this. (04 marks)

(iv) Using a demand and supply diagram, explain how the granting of a production subsidy on a
good would affect the surplus enjoyed by the producers. (04 marks)

(v) What are the economic consequences of a maximum price for an essential consumer good
imposed by the government? (05 marks)
\. J
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3. (i) How does the Law of Diminishing Returns relate to the shape of the firm’s short run cost curves? (04 marks)

5.

4.

(i) What happens to the difference between average total cost and average variable cost as a firm’s
output expands in the short run? Explain. (04 marks)
(iii) How would each of the following affect average total cost and average variable cost?
(@) A reduction in the price of electricity
{b) A reduction in the wage rate
{c) An increase in the salary of the Chief Executive Officer (CEQ)

(d) An increase in the cost of the rent of the firm's buildings (04 marks)
(iv) State two differences between a perfectly competitive market structure and an oligopolistic

market structure. (04 marks)
(v) Distinguish between normal profit and abnormal profit. _ (04 marks)

(i) Explain what is meant by ‘injections’ and ‘leakages’ from the circular flow of income and identify
the leakages in the aggregate expendlture in an open economy with government activities. (04 marks)
(i) What are the major components of Gross Fixed Capital Formation? : (04 marks)
(iii) Explain how Gross Domestic Product (GDP) is. calculated and show how GDP at market prices
is different from Net National Income. : (04 marks)
(iv) Why do we consider a business cycle expansion to be different from economic growth? (04 marks)

(v) The following macroeconomic data of year 2016 are given for an economy.
(All figures are in Rs. billion)

item Value
Gross investment (1) 200
Taxes (T) 550
Exports (X) 375 -
Consumption expenditure (C) 700
Transfer payments (Tp) _ 300
Imports (M) ' ' 325
Government purchases (G). 300
(a} Calculate the Gross Domestic Product of this economy. _ _ (02 marks)|
(b What is the personal disposable income of this economy? - (02 marks)
(i) Suppose an aggregate consumptioﬁ function for a simple 'economy“ is giveh by C=100 + 08Y,
while investment is given by 1=200, _ , o .
(a) What is the equilibri'um level of income in this ecoﬁoﬁiy‘? ' ' A (02 marks)
" (b) What is the level of saving at the equilibium? . - (02 marks)
(c) If, for some reason, aggregate output were at the level of 1700, what would the level
of involuntary inventory accumulation be? (02 marks)

(ii) Explain why a Rs. 500 million reduction in government purchases (G) will generate a larger
fall in real GDP than a Rs. 500 million tax (T) increase. ‘ 4 marks)

(ili) Assume that GDP (Y) is Rs. 6000 million, personal disposable income is Rs. 5100 million,
government budget deficit is Rs. 200 million, consumption expenditure is Rs 3800 million and
trade deficit is Rs. 100 million.

(a) What is the amount of savings (S)? o (02 marks)
(b) ‘What is the size of investment (1)? ' o (02 marks)
(¢) How much is government spending (G)? (02 marks)

(iv) “The equilibrium level of national income, is not necessarily equal to the full employment level

of national income”. Bxplain this statement. (04 marksb

[See page three
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Sub section ‘B’
(Select minimum of two questions from this section.)
(i) Distinguish between headline inflation and core inflation. _ (04 marks)
(ii) Identify the components of aggregate expenditure and with the help of a diagram, explain how
increase in aggregate spending in an economy might result in inflation. - (04 marks)
(iii) The balance sheet for a commercial bank is given below:
Liabilities ' Value | Assets Value
(Rs. Million) (Rs. Million)
Deposits 180000 | Reserves 100000
Treasury Bonds 40000
Loans : 40000
Total liabilities - 180000 | Total assets 180000
(a) If the statutory reserve ratio is 10%, what is the maximum amount of new loans that
this bank could make in the future? (02 marks)
(b) If Rs. 10000 million of deposits are withdrawn from this bank, what is the maximum
amount of new loans that this bank could make in the future? (02 marks)
(iv) What do you mean by high powered money? Does a Central Bank have a perfect control over

the stock of high powered money in the economy? Give reasons. (04 marks})
(v) Briefly explain the main focus of the current monetary policy framework of -the Central Bank

of Sri Lanka. - : ' : .- (04 marks)

(i) What is a pure public good? How does it differ from a quasi-public good? - (04 marks)
(ii) Why does a free market overproduce goods with negative .extemaiit__ies? Explain your answer,

‘'with an appropriate diagram. (04 marks)
(iif) What are the major sources of excise tax revenue in Sri Lanka? o : (04 marks) '
(iv) “Sri Lanka’s public finances are at a perilous state” (Institute of Policy Studies). Identify the

major weaknesses in public finances in Sri Lanka at present. : (04 marks)
(v) State briefly the important measures taken by the. government of Sri Lanka in recent years to

address the critical issues in public finances. (04 marks)

(i) The following diagram shows production possibilities curves for country A and couniry B
producing mobile phones and bicycles.
Maobile Phones (thousands)
/
1 200
1 000+
800+ Country A
6060 1
400+
2001 «——Country B
4 > Bicycles (thousands)
0 200 400 600
(a) What is the opportunity cost of producing a bicycle in each country? (02 marks)
(b) Which country has a comparative advantage in the production of mobile phones? (02 marks)
{c) For mutually beneficial trade to occur, what should be the rate of exchange between mobile
"~ phones and bicycles? (02 marks)
S

[See page four
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(if) “The performance of Sri Lankan export sector has been lagging in comparison to its regional
counterparts over the last two decades™, Give reasons for the poor performance of the export

sector in Sri Lanka. (04 marks)
(iii) Explain how a significant rise in the general price level will affect the current account of the

balance of payments of an economy. (04 marks)
(iv) Explain the meaning of ‘external stability’. (02 marks)

(v) State briefly the potential benefits of regaining GSP Plus duty concession for Sri Lankan
exports to European Union. . 04 marks)

9. (i) Outline the limitations of using Gross Domestic Product {(GDP) as a measure of a country’s

living standards. (04 marks)
(ii) Explain the meaning of the term ‘productive capacity’. (02 marks)
(i1i) What are the key factors determining a country’s productive capacity? | (04 marks)
(iv) How is poverty measured in Sri Lanka? (05 marks)

(v) What are the major economic- challenges Sri Lanka is facing due to population aging? (05 marks)

10. (i) What are the advantages of. Public-Private Partnerships (PPP) as a strategy for infrastructure
development in Sri Lanka? . (05 marks)

(ii} “Sri Lanka continues to perform poorly regarding ease of doing business and investment climate
in the country”. List most problematic factors for doing business in Sri Lanka. (05 marks)

(iii) “Tourism industry has become one of the fastest growing sectors in the Sri Lankan economy”,
Discuss its contribution to foreign exchange earnings and employment in recent years and the :
challenges faced by this industry at present. (05 marks)

(iv) “Almost half of the rural poor population in Sri Lanka consists of small scale farmers.”
Identify the major issues in domestic agriculture which have resulted in low productivity and
low incoimes. : ; (05 marks)
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